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About CENTURY

CENTURY is a learning platform that uses
artificial intelligence to personalise learning
for every learner. Our team of experienced
teachers have created all of our content et Aocommenaed et @
for English, maths, science, geography and ‘
physical education from years 2 to 11, as well
as functional skills content for post-16 learners.
All courses are aligned to the national
curriculum and national standards.
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Want to see this in action?
CENTURY

Watch a CENTURY platform walkthrough



http://www.youtube.com/watch?v=IxR4ooo3y3Q

TeacherGENie™

Making generative Al work for teachers

CENTURY has always led the way in embedding Al into education
through our teaching and learning platform. TeacherGENie™ goes
beyond using generative Al alone, as we know the true value of
these tools can only be realised when they are combined with
quality, teacher-made resources.

These worksheets, consisting of five questions, can be used:

@ in class as a starter to assess prior knowledge,
@ as a plenary to check learning,
@ as part of home learning,

@ as a great revision tool in the run up to exams.

With the ‘Copy question’ button, you can easily copy and paste the
generated content to use elsewhere.

By grounding generative Al in expertly crafted learning resources,
we’re making sure that tools such as TeacherGENie™ deliver
meaningful, classroom-ready materials that genuinely support
teaching goals.
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TeacherGENie

Select a nugget or
Gownlood and she

ate new questions that you con

Courses
Primory - Year 6 SPaG
Topics.

Word Classes

Nuggets

Possessive Pronouns [PSPG113]

Nuggets

Interventions

TeacherGENie EZ3)

Primary — Year 6 SPaG / Word Classes / Possessive Pronouns [PSPG1.13]

Show Answers

Question 1

Identify and write the possessive pronoun in this sentence.

The toy belongs to James, o it is definitely his.

Question 2

What s the possessive pronoun in the sentence below?

The house ot the end of the street is theirs.

Question 3
Fillin
Po: i
| Ssessive Pronouns . Teacher sh, t
ee

The

Possessive Pronouns

Name:

Date:

Question 1
vrite the possessive

10nouN in this
9510 James, ag i o OOUN in this Sentence,

is definitely hs,

ssessive pronoun

Question 1

Identify and write the possessive pronoun in this sentence.

The toy belongs to James, so it is definitely his,

Question 2

What is the possessive pronoun in the sentence below?

The house at the end of the street is theirs.

Question 3

Fill in the blank with the appropriate possessive pronoun.

The bicycles belonged to both Emma and Olivia.

The bicycles were

Question 4

Choose the word that cannot be used to show ownership.

« him

« yours
« mine
« ours

Question 5

Which option correctly describes the function of a possessive pronoun?
+ is the name used for specific people, places, things or ideas.

in the sente,
1€ end of the street is theirg, - CSIOW?

With the appropriate

longed to both Empm, Possessive pronoyn,
re _

a8 and Olivia,

Ith,
'at cannot be useq to show ownersh,
ip.
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" Phrases together.
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ing.

+ is a word that is spelt the same but has a different meaning.

+ shows that something belongs to someone or something.

- is a word that links two words or phrases together.
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Course Coverage

Secondary

Year9

Year 10 Year 11

Secondary Reading

Literature — 19th-century Novels

Literature — Shakespeare

KS3

Literature — Modern Prose & Drama
Literature — Poetry
Literature — 19th-century Novels
English SPaG GCSE
English Language GCSE

English Language IGCSE

[ wans | S

Edexcel Award
WJEC
IGCSE Cambridge
IGCSE Edexcel
Financial Maths
Advanced Maths

Bridge to A-Level

Lower Secondary Cambridge
GCSE AQA Biology, Chemistry and Physics
GCSE AQA Combined Synergy
GCSE AQA Combined Trilogy
GCSE ELC AGA
GCSE Edexcel Biology, Chemistry and Physics
GCSE Edexcel Combined
Secondary Other
IGCSE Cambridge Biology, Chemistry and Physics
IGCSE Cambridge Combined
IGCSE Cambridge Co-ordinated
IGCSE Edexcel Biology, Chemistry and Physics
IGCSE Edexcel Combined

Science Keywords Edexcel IGCSE

Working Scientifically

Prepare for A-Level Science
Geography GCSE AGA

GCSE Edugg
GCSE OCR

IGCSE

GCSE

Vocational

Digital Skills Secondary
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https://www.century.tech/customer-guides-resources/

English Courses
Secondary English Language KS3

Our KS3 English Language courses cover
reading and writing skills across both fiction

and non-fiction, including language, structure,
analysis, text types and writing for purpose.

@ Comparatives and Superlatives

Comparatives are sed to compare two things.

are used to compare one thing with

Superlatives are U
everything

else in that grovp-

Most adj
the comparative ai
often find these forms in
not fit the regular pattern.

ectives have three forms: the absolute,
nd the superlative. You can
a dictionary if they do

Choose the simile below.

CLEVER - adjective (¢
|

‘

@ There was a blanket of fog in the sky.

Incorrect

No, this is @ metaphor,
and ‘s’ when deciding if a sentence includes a simile!

£ correct answer

The night sky was as black as coal.

The sky was sunny and clear.

|t was such a sunny day. In fact, it was the sunniest day of the summer so

far.

Structuring your Dear Sir/ Madam,
writing on

I am writing to appl
ik to begin by stating how much | love The Cafle and thot § would very
just down the road and have frequently

Iy for the position of waiter at The Cafe on Saturdays.

« Use a range of Fisty, | would
much enjoy working here. | have always lived

sentence
structures and visited The Cafe, The food is always delicious, the staff are unfailingly friendly and itis my
sentence tengths. favourite place to meet a friend for a cup of tea. | would make it my mission to help create
the warm and welcoming atmosphere that | have always enjoyed so much.
« Use paragraphs. .
e Secondly, | think that | would make an excellent addition o the staf, 1 am a very confident
51 At fetmdt - the customers feel welcome from the moment they

4 left. | am a hard-worker, organised and reliable.

10 apply to @ hospitality ond tourism course, o
ain at The Cafe would be invaluable to me.

Jane istallenthan John.

She is the(bestsister!

He is@ore intelligent han they firs
thought.

That is the(worsbsmelling
Spring
represents childhood:
just as children are
growing up, plants ang
se0dt begin o grow,

Summer

symbolises adulthood:
plants reach maturity -
trees are in full bloom,

i s S

The fou
Ut seasons can symbolise different stages of it
ife:

b . Autumn

oQ

Symbolises old age:
the leaves on the trees
tum golden brown,
preparing to falf.

Winter

represents death: all
the trees are bare andg
all plant Jife s,
essentially, dead.

not a simile. Remember to look out for the words 'like'

NEXT QUESTION

English Language KS3

English SPaG Secondary
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English Courses
Secondary English Language GCSE

Our GCSE English Language courses cover reading
and writing skills across both fiction and non-fiction,

including language, structure, analysis, text types and

writing for purpose.

ages of 1S
pe symbatie O ifforent SO0
5005 €N
The four €€

<pring afien represents

) onawer
o e correct @518

cnoost

deoth

e adultnood
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- lans oot maturity
g pOlISes. aouithood: o1

Nn,summar EY
ploom™-
» consaonee
e 53 New message
Include their T ';helqén’c;;@

\ email address

The subject is A
summary of the
topic of the email.

|pear it/ Madam,
Troutd like to make o complaint ob

| was supposed 1

April. However, my train was cancelled.

Use formal openings
and closings

Iexpect

| Look forward to your reply.

If you don't know
their name, address
the email to ‘Dear

Sir/ Madam’.

ubject Trainticketrefund J

out a cancelled train

rain ticket
o full refund of the cost of my trein 1€

Question

o

| In thi
| In this speech, Martin Luther ki

| )
| ©NGage the audience. By addres.
| makes them fee that he cares o
| & ectly respond. In this
| tointroduce a point o ar,

gumentin a captiva
| . captiv
| 2nswer his own question, 2ting way, as he goes on 1o |

be travelling from London to Edinburdh at 1m0t ’
o be travelli

How does the speaker use language to
©engage his audience in this speech?

ing used a rh,

etorical question to

5ing questions to the fisteners, po
i bout their opinions, even though they |
Quote, his rhetorical question is useq

“Now, what does
great period of
We've got to stay together

™0 Been o e ;
et e b M e ki

all of this mean in
this
istory? It means that

Remember

By using the adjectives “hard-
working and exciting” to describe
the reader's lifestyle, the advert is
complimenting the reader and
using flattery to persuade the.
reader to try out their product.

Flattery also helps to create the
impression that there is a personal
connection between the writer (in
this case, the coffee company) and
the person reading, so that the
reader can trust them. The
‘company describes the reader’s
lifestyle as though they knew
them, as if they are friends.

Remember to explore language
i detail - you should always try
tofind multiple or alternative

interpretations of a device,

Spelling Tip

“To compliment” means to
show praise or admiration of
someone or something, and
is a useful verb for writing
about flattery; however, “to
complement” means to work
well with something. For
example, “I complimented
her dress”, but “her jacket
complemented her eye
colour”. Make sure to check
your spelling!

Specification: C700QS

English Language GCSE: Eduqas

English Language GCSE

English Language GCSE: AQA

Specification: 8700

English Language GCSE: Edexcel

Specification: 1TENO

English SPaG GCSE
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English Courses

Secondary English

Language IGCSE

Our IGCSE English Language courses cover reading
and writing skills across both fiction and non-fiction,

including language, structure, analysis, text types and

writing for purpose.

His sister sw0od

S . challenges - for example, paing for rent and groceries can become an ongoing
To tell ther st supper meo struggle!
Coesut s if 1o prove saws knew e ioleoR —
e middte of & & outat the BoU fond, af 52 7y Which sentence includes an example of figures/statistics?
e in he Leape Vowaver it Was,
coesura is 0 P the hond.x
5 { poetry. e st ave given eting, But the hond' Those living in poverty experience and endure many challenges - for
e o Indicated by s retused he et L extiple pouing for rent tnd Graceries con bécome on angolig SIGGIE
it be Indi fest outcry wWos @ TV
The pouse W' , adosh. @ s first O nand
nctoation fsuch 08 & full S°P : s Trabowy g toword them oiding U2 L In 2014, they showed that 6.5% of the UK population were in persistent
pu clamatic" - s he S i
coton, on X ot as i 10 ke poverty.
colon, @ sem it in appect. BUt o~
mark). Hat ing, Thin the boy S9%
or a question from spiting. T1 Persistent poverty means having a relatively low income for long periods of
ity excmples of The e

o ot
mas are 1ot

csuras as they do 1t motk &
- " out, Out—"bY
significont Breek-

peen underined:

oun caesura s nesn SCEEE

ich is about @
Here is a section from “Out, Out-, a poem by Robert Frost, which is al

young boy wha is outside sawing wood:

“And the saw snarled and rattled, snarted and rattled,

As it ran light, or had to beor @ fead.

and nothing hoppened: day was all but dore.”

Type ONE word from the poem thatis an example of onomatopoeic.

5§

—

beside him ¥
pper, ALNG wOTe:

Robest Frost

Read the passage below.

“The goverment n the United Kingdom is about to release statistics on poverty
levels this year. In 2014, they showed that 6.5% of the UK population were in

ersistent poverty. Persistent poverty means earning @ low amount of money for
in her opron . : o . Y

a long period of time. Those living in poverty exparience and endure many
the 50w,

time.

The government in the United Kingdom is about to release statistics on
poverty levels this year.

oot iow
&

Dramatic Monclogues

A dramatic m,
onclogue is a poer
8 3peech: one chg, POem in the form of

She thanied men—_gogg, But thanke

Sem,
= PO~ KIOW N6t hownas ifshe ronker
=4I 2 e b syeors ol g, ‘
-old nome
With anybody's gin, wigg SDOp t6 big,
me

This SOt of trfling? Eyn hod gou skiiy

Here is on ex,
9L 1rom & diram,

L ; etic monola

 Rabert Browning about g oke who s)vl::s'
: POrroit of his wite and speqies

s wife. It is strop,
His wite kiliog, St

e: here you miss,

mark"—and if she to;

The Duke 5 very proud ang
BOGstiL, but the reqq,

e, wicked nature,

Herseit be lessoneq
er sees his

0. 161 plainty set
|The OUKE's voiee s the oniy voice
e teader heors, Alihough ng 5

SPAOKing 10 someone, this

<h .
oracter remoins siteny. 8rew; | gave commans;
ather, )

Extract tam a4y
5 Duchess
4 Botrert Sramy
vog

English Language IGCSE: Cambridge
Specification: 500

English Language IGCSE: Edexcel A
Specification: 4EA1

English Language IGCSE: Edexcel B
Specification: 4EB1

English Second Language IGCSE:
Cambridge

Specification: 0510/0511
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Secondary Literature - 19th-century Novels

Our literature courses explore plot, characters, Literature: A Christmas Carol
themes, context, language, structure, form, and

are suitable for all exam boards.

Literature: Jekyll and Hyde

Farn
(®) Literary Device

Asimile is a comparison between In “The Last Night’, Utt s Jekyil's

two things, using the words like’ home, and the servant: ered together.

e “The whole of the servants, men
and women, stood huddled
together like a flock of sheep.”

@ wn Literature: The Sign of the Four

“like a flock of sheep” suggests that the
servants are “huddled together” out of f
Riseb would cluster together for protect

The simile

Itis reveaieq that Watson has written
a brochure about g Previously sotved
case, ‘A Study in Scarlet,

Sherlock Holmes is the protagenist of the novello.

)

Detection is, of o,

be, an exact scien

Holmes js critical of Watson’s Writing,
claiming jt js too eémotional, He woulc;l
prefer it to he factuat ang exact, é

ALY
Y w s A‘I‘J What does the word protagonist mean here?
3\
o the moin character, often portroyed as the hero
a choracter who opposes the hero

a character who contrasts with another character

a character who is wronged s the result of a crime

J

Download course content
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Secondary Literature - Shakespeare

Ouir literature courses explore plot, characters,

themes, context, language, structure, form, and
are suitable for all exam boards.

n act five e two, Friar Lawrence is Visite' Friar John, who was sup
wo, Fri wrence is visited Dy Friar JO!
in act five, scene 3

Romeo teling . He explains that he \as able 1
nim of xplains tr he was unab!

; but believes t j
&= fease . s too good to b
Pretend it is “a dreqm’ untit it .

betieved. He s

it has been confi . . He says that they

the : irmed. He in: o

REWs, S0 that she s prepored for Don Pegros Proposat. s Anlonoto nform Heroof
S = form Hero of

‘ - s?
3\ )
Friar John o
> The character who overheard the
conversation between D

on Pedro and
Claudio misunde

il ho"‘,’ it os o dreom il it appear

L will acquaint my daughter withar,

imoy be lfxe better prepared for an answer,
=nture this be true. Go you and tell her of 1,

12

There is a love story involving Hermig,

Helena, Lysander and Demetrius. The
fairies try to solve their love problems

which causes chaos.

The course of true love never did run

Act One, Scene One

o 2o
Lysander

Literature:
A Midsummer Night’s Dream

.~ Literature: Macbeth

. Literature: Much Ado About Nothing

Literature: Romeo and Juliet

Download course content
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English Courses
Secondary Literature - Modern Prose & Drama

Our literature courses explore plot, characters,
themes, context, language, structure, form, and

are suitable for all exam boards.

When Micked and Edward

ashoe

a piece of papet

asweel

Saueater

meet, whot does EGWE

Al onj)
ONimals ara qQual b Some

ANimofs
are more Cqual thay, Oth
Chopter o -

quoleon

The boys continue to talk. Their different
inging and ion are i i

clear. Mickey shares swear words with
Edward, who says he will “look it up in the
dictionary” when he gets home.

Mickey tells Edward that Sammy suffered a
head injury when he was a baby when he fell
out of a window.

Mickey and Edward quickly become friends.

They realise they share a birthday. Mickey
tells Edward this means they can be “blood
brothers”, so the boys each make a cut in
their hand and then clasp their hands
together.

The new com,
dreams of eq

Language

The differences in Mickey and Edward’s
ighlight the di in their

class. Mickey uses swear words like “pissed
off”, whereas Edward uses typicatly middle
class words, such as “smashing”.

In chapter two, the reader first meets Napoleon.

What are our first impressions of this character?

He s @ quick, smort chorceter who is always thinking up new ideas.

WS is guite an vggressive, intimidating bully.
\est character who can twist the truth.

in impressive, likeable character.

ribed as "fierce-looking” with "a reputation for getting his own

NEXT QUESTION

Literature:
An Inspector Calls

A

Literature: Animal Farm

Literature: Blood Brothers

Download course content
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English Courses
Secondary Literature - Poetry

Our literature courses explore plot, characters,

themes, context, language, structure, form, and

Love and Relationships Poetry: AQA
are suitable for all exam boards.

. t QA
r nflict Poetry: A
.
Familiol Pplatonic Love
A
.I 3 Dﬁiullustl
oo LI 02 e e
e e ene oo e
g e :
e o s D= ; ’
e aaeh f e 9 :

explore v ;

your. anthology: »

The words ove' ond’ ‘le\n\ionsh\ps
!  in the exam

might not :::: should know St anza 1

et 01

v
omem I'm ten years away from the corner you laugh on
il tion. Thes€ x :
O appearinthe aueston I with your pals, Maggie McGeeney and Jean Duff. 5
i jive you i€
words might olso of

The speaker is probably looking at a
photograph of her mother with two
of her close friends.

@ o apic of your PSP The three of you bend from the waist, holding

each other, or your knees, and shriek at the pavement.

Power & Conflict Poetry: Edexcel

+ *~wue round your legs. Marilyn.

The speaker describes her mother
glamorous, her dress blowing

+ The three girls are laughing

i ound her like Marilyn Monroe.
i and P g « Fi
Different e :hclre ice cream, | s First Person
i Ide ope, i You besy A
Memories ¢ g, When e AN singing ;0 When the gy, Relationspjp,
her brothepg S Your bitgy | "€ YOU bestin mig between g,
- o e e
Sty . e Unseen Poetry
their hras
Waves
ooy * Tl Choose the best summary of the poem 'Poppies’.
et (love fai
mry%e“) rey () Amother remembers the day her son left for war, and it is implied that he

has now died.

the way,
‘es,
ove 3
——— 2" Poryou, tor g, /
S

A narrator wolks through London, describing the misery and suffering he
sees.

Having shot a man, who may or may not have been armed, @ soldier
suffers from guilt.

During WW1, a group of soldiers sit in a trench w(no are suffering exposure
to the cold weather) are waiting for something to happen, but nothing
happens.

1DON'T KNOW
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English Courses
Functional Skills

Our functional skills courses cover the English Functional Skills (Entry 1)

knowledge and skills required for the functional
skills qualifications, mapped to the national

requirements outlined by the DfE.
English Functional Skills (Entry 2)

w 3
& P
The ball flew into the sky like a rocket. O 2 4 2 5
’J Yesterda@ weather was terrible. ) . .

N A o English Functional Skills (Entry 3)
This simile suggests that the ball went upwards

very quickly- l

h J

Which of these sentences is a simile?

Areyoup

-
What is the main point of .\ Shewas fishing for compliments.

this text?

Who we ar:

English Functional Skills (Level 1)

We are a sr (" e H
the middle ./ Hewas as brave as a lion.
working, re

e .\) Lions are powerful and majestic.

Wearesee
personwh | He was the apple of her eye,

/ positions a
Read this text and identify

commitmel

what the key words are.
Contact jot

English Functional Skills (Level 2)

Download course content
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Secondary

These courses have been created by our team
of experienced secondary mathematics teachers.

Edexcel Specification: IMA1
AQA Specification: 8300
OCR Specification: J560
Eduqgas Specification: C300P

The diagram

Roung oy, ?
I 01 et

B e g

AE x BE = CE x DE

x(40)= xQ Acn < x5 357
6(x+6)=108, Acen = 35 egusio
it x+6=13
—

Mathemetics Secondary (F)

Mathematics Secondary (H)

Mathematics Secondary (F+)

Bridge to A-Level Mathematics

Download course content
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Secondary Edexcel

These courses have been created by our team

~ Number & Measure Level 1:
; - Edexcel Award
of experienced secondary mathematics teachers // Specification: ANM10

QAN: 600/2241/3

Number & Measure Level 2:
Edexcel Award

\\ /' Specification: ANM10
LY QAN: 600/2242/5
015 -x<20

Solve the following:

8y <-24
15-x<20 s
-15 ) -8y<-24 .
(e frin b Algebra Level 2: Edexcel Award
: x(-n( i ) x(1) Yy Specification: AAL20
/ QAN: 600/6631/3
N foi-+o 2 4 . - -
- - ing)
the column method for subtraction {with exchanging
Using
Always 5‘:" by ’“b;:““w the house \
figits in the ones columa: )
e p sl g criveway Algebra Level 3: Edexcel Award
If the numbe!
jgger than the urmber on (0P - .
g o he e < 3{: Specification: AAL30
.8m /
St : PN ; S/ QAN: 600/6632/5
oo i o
number. Car A B [+ D E F
Continue to subtract as o Length (m)| 41 | 3.8 | 45 | 48 |50 43
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Secondary WJEC

These courses have been created by our team

of experienced secondary mathematics teachers.

Mathematics GCSE Unit 1: WJEC (F)

Specification: 3320UA
QAN: C00/4968/0

Mathematics GCSE Unit 1: WJEC (H)

Specification: 3320U1
: QAN: C00/4968/0

Mathematics GCSE Unit 2: WJEC (F)

Specification: 3320UB
y/ QAN: C00/4968/0

~
3 | Multiplication with Napier’s Bones
° Find the size of the equal. missing angles b

Angles at a point add to 380"

90 +60 +b +b=360 6
150 + 26 =360

b 21=210 |

N0 22 (p=108 4 2

\ N
\\ 6x9=54 603

e
105"

/_J

Mathematics GCSE Unit 2: WJEC (H)

/ Specification: 3320U2
QAN: C00/4968/0

Mathematics GCSE Unit 3: WJEC (F)

Specification: 3320UC
4 QAN: C00/4968/0

Mathematics GCSE Unit 3: WJEC (H)

Specification: 3320U3
J QAN: C00/4968/0
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IGCSE Cambridge

These courses have been created by our team
of experienced secondary mathematics teachers.

What is the equation of the line of symmetry of this graph?

A
RS
B8
- The engj
\; ~ ['e.entire shagey Th
. H Ws the € sha :
Symmetrical Subtraction and B shows the(?revgei €gion
Section
5-3=2 c)fset,t;\a,.,dB
AaY Rounding to the Nearest Whole Nuj  ©ven the triangle below, select the
correct calculation of th issi i
7 3 21401 23458 € missing side.
>t %\\jL\JUUU oRoundS,GZ}mtheneareslwholenumber 4
3 = 5 = _2 Round up
% Do not round up ’¢‘ Round (
—
We know that subtraction is not 5 s 52 53 54 55 56 Ts.v 13/,/ [

commutative but we can see m_at
i jon. = :
there is a symmetry to subtracti oot the e et

5.68
decimal place, if it is 5 or larger, round up.
If it is less than 5, do not round up. 3 3
Here, we look at 6.
Since it is larger than 5, we round up. z=1132_3

z=132_-32

r=13%2432

2= VITFF

= )

Mathematics IGCSE:
Cambridge (Core)

Specification: 0580/0980

Mathematics IGCSE:
Cambridge (Extended)

Specification: 0580/0980

Mathematics International IGCSE:
Cambridge (Core)

Specification: 0607

Mathematics International IGCSE:
Cambridge (Extended)

Specification: 0607
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Substituting into Expressions 1

Substituting into an expressions means replacs

ing o variable (letter) with the value assi
ed o perform an operation with this value:

You may then ne igned to it

|IGCSE Edexcel

These courses have been created by our team

= 50-3x%1 =50-33 =9y
10549 = 10x114a _ amn o

Transforming Graphs: Translating Vertically

of experienced secondary mathematics teachers. L e e

o ctor
y=f(x) + C moves the groph of y = fix) UP Common factor =

The common factors

Y =f(x) = € moves the graph of y = ix) DOWN

(O %1: e o tona3
15571 3
|z |e (3) >

Mathematics IGCSE Unit 1:

. Edexcel Modular (H)
/ Specification: 4XMAH

Mathematics IGCSE: Edexcel (F)
Specification: 4MA1

Mathematics IGCSE: Edexcel (H) | g:ther:l:;lc; IIGCSFE Unit 2:
Specification: 4MA1 exce odu ar( )

: / Specification: 4XMAF

Mathematics IGCSE Unit 1: Mathematics IGCSE Unit 2:

Edexcel Modular (F)
' specification: 4XMAF

Edexcel Modular (H)
/ Specification: 4XMAH
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Mathematics Courses

Financial Maths

This course covers skills relating to financial
maths; including underlying mathematical skills

as well as understanding of everyday finance and

financial products.

Here is a part of a debit card statement,

¥ BANKLEYS
Current Account Statement
e —
Son Cock- 400815
Opening
Amange
Transactions
—onsactlons 0
Date Description 0wt g
19thOct  Barista Coffee - Salary £125
19thoct  BestGym £3450
20th0ct  PizzaPalace £1995
21t0ct  Big Bank- Cash Deposit  £5000
220d0ct  Denim Direct £65.99
e |

How much maney was paid into the account?

£

—_—

\__7

Electricity Co-
.

Dr. Kate Jones
12 Woosford Drive
Somersby

583 8FY

Name and address

Statement Date 13tn Aprit
B Period. 12/03/24 - 1204724
Your Electricity Statement

This means the account

nas credit, pOSSIDY 11O i, 1o satance: £35.23 1

i erpayment
clpreviot SiEEEY Eleeticity Costs

8705

Lords FlexSuper

+/ £2.50 amonth

 Free European

travel insurance

+/ Free roadside

breakdown cover

AccountNa.*
Bill Ret. EB3:

inc. VAT ot 5%

Some current accounts may have a
monthly fee, but come with benefits
which may include things like:

Lords FlexPremier | - Breakdown cover

+ £4 amonth - Travelinsurance

+/ 2% cashback on - Cashback

tREty s There may be a requirement on these
+/ 1% cashback on accounts to pay a minimum amount
mobile bills and gym

memberships

in to it every month.

Budgeting exchonge.
Budgeting can help wi ki t
" Sty
B L -~ |EUROS ARE US!
things 1 e here are essangioy —
ey f’ SPend money on, these are
. nen{m . _mm,,,., & Amount to exchange Rate
N E e
Bills (gas, etectricity ang water) - = & y £1-£99.99
+ Councit Tax == 1 : R
* Intemet and teteyisi,
vision £100 -
i s 00 - £499.99 1.1619
+ Food
e . ‘ A £500 - £10,000 i
di 1o over money s caltd your i % -
disposable income. PR T
N D |
"21'-55 ;’ I (')
sk L O

Financial Maths

{ 5

cutated every mang, Inflation Meosuren:

the changes j,, prices "‘“T:r Price Index (cpy
Retail pr;

Services. Prices e rice Index (RPY
°SS areas in the Uk,

regional differences

ded gre known qs
s, It is designeq
things peopie
ound 700

the baskes, under
20, clothing,
Sehold utifities,

The basket r
RECENIY 1ok e w2209 5 1€QUOMY Upigen

Bryn wants to change some pounds to euros for his holidoy to Mtaly. He has £300 to

How many euros wit he get?

You do ot need to include units in your ansier.
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Secondary White Rose

This mapping document shows how our content aligns

with the White Rose scheme of learning.

iew, front
the plan view,
i below shows .
e desrem Side
Front
Plan

= B B

levation.

t el
is pointing at the fronf
ect solid. The arrow is pointing

Select the corr¢

AEXBE = CEXDE

x( & )= X
G(x-«—G): 103
| x+6=13

/C'

AE = 6cm
CE=12cm
DE=9cm

elevation, and side elevation of a 3D sofid

+6

A florist sells bouquets of flowers, she has to buy the flowers so that she can sell
them. It costs her £6 to buy the flowers for a smatl bouquet {x), and it costs her £9
to buy the flowers for g large bouquet (y). She has £126 to spend on flowers. She

needs to sell at tegst hatf as many large bouquets as small bouquets, She must
sell a minimum of 3 smotl bouquets.

She selis targe bouquets for £50 and sm

all bouquets for £40, She wants to make
atleast £520 revenue.

Which vertex on the region will

L give the maximum profit?

Points o i
1 and B lie oy the circumfe!ence of a circle,

I‘ta:?tx,-mi‘usz
2
P =Xixac

BT

White Rose Mathematics - Year 7

White Rose Mathematics - Year 8

White Rose Mathematics - Year 9

White Rose Mathematics - Year 10

White Rose Mathematics - Year 11
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Functional Skills

Our functional skills courses cover the knowledge and

Mathematics Functional Skills
skills required for the functional skills qualifications,

/ Entry 1
=y (Entry 1)
mapped to the national requirements outlined by the DfE

Mathematics Functional Skills

- (Entry 2)
e It is night time and Amelia is about to go to bed.
Rounding to 1 DeCima| PI_ Which of these clocks show the correct time?
(4
Round 3378 o1 decima ice ( ) ( ) ( m ) ( o ) - Mathematics Functional Skills
1 decimal i S bt |
o : / (Entry 3)
3 M AM s in the 3 PMis in the middle 10 PM is in the late 8 AM is in the X 4
° 3 morning. x of the afternoon. w.s evening. V4 moming.x
Sin, .
in t;: B|DMAS |ntroductl0n E \ 10 PM \
. r— . Mathematics Functional Skills
. Indices . W is “\
© ovide  vuitply 5 per from the list belo \ ) (Level 1)
" wh|Ch num . loce? \ /
@ -adition Subtraction itten CO\'rect tol deClmCll P \ . /
ritte -
|dentify and order the W \
operm'«ons 001 \
Division comes before ! 0.001
Addition

What number is represented by the tally below?
04

1 111 |

Mathematics Functional Skills
[ ioowon

( 1 1 (Level2)
Y -
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Advanced Maths

These courses have been created by our team

of experienced secondary mathematics teachers to

support students taking advanced maths qualifications.

y ©)
inthe section the gwdisntis
always decreasing: :
I the graph of {3 the gradiet storts off

positive, then gets Less steeP-

ond
il tive ond then more @ Py

{t then becomes nega
steeply negative:

ris is shown in the graph of (< by m:
gradient function getting Iesf steep an
then becoming negative. 1o 1S most
negative point. 2

i [
The groph of /() is aegative for ;hls
caction as the rate of change o1 .
gradient is negative.
/

A section of row 15 and 16 of Pascal’s triangle is shown below.

%

1 15 105 &
1 16 120 560 1820 4368

Find the next value on row 15.

il a Find the first three terms in the expansion of
(3x —2)*, in descending powers of x.

oldenn(gvolues: n=4 a=3x b=-2

o substiute i {CBHN=20 + CBID)! +ICERD?

In the . section the gradient &

aways increosing.

£ 11x) the gradient storts off

raph o
e then gets tess steep. 1t

teep and negative:
e petiv o ten more
steepty positive.
e
This *
P
EincTl .

L] unctions and Notation

i € 9roup of numbers
l tupes of mappings; andturns itinto anather graup. There are three
1 S ey
¢ / e }
4 f
I
0
i
One-to-many s !
ne value in the i o
. input maps to One value in the input Many-to-one !
ultiple values in the output. Put maps to

Multipl i (
©one value in the output, Ple values in the input map,

to one value in the outpur,

One-to-oy
ores "€ and many-to-one mappings are also functions,
5 cases each input only maps tn ~na output, '

Descending powers will be
the first three terms as the X
term is first in the bracket

Lculate the numerical powers:

1(81x%)(1) + 42707)(=2) +6(9x)(@) Remember: (px)” = p"x"

2 —216x%  +216x% .
& i glxt — 216x° + 21637

=5

Advanced Maths: Differentiation

Advanced Maths: Functions

Advanced Maths: Binomial Expansion
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Science Courses
KS3

This map show how our KS3 Biology, Chemistry
and Physics courses are aligned to the KS3
national curriculum. You can edit each of these
courses to match your KS3 schemes of work.

Science — KS3 Biology

Science — KS3 Chemistry

3 cookin,
'9 pots are placed on a hot stove, Chaose the one that will heat quicker.

S

Organelles

These are small structures found in cells that help them complete the life processes,
for example the nucleus, mitochondria and cell membrane. '

Science — KS3 Physics

Organelles can also be called sub-celluar structures.

Choose the correct equation to exploj

The PeriOdic Table E in what a solution is,

Solvent + Solution = Solute

plant cell

Solution + Solute = Solvent

Solvent + Solute = Solution

Animal cell Meta ls NQn-Metd

]

Metals are on the left of the periodic table and non-metals on th
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Lower Secondary Cambridge

These maps show how our KS3 Biology,

Chemistry and Physics courses are aligned
to the Cambridge scheme.

Science — Stage 7: Cambridge
University Press Aligned

Science — Stage 8: Cambridge
University Press Aligned

Science — Stage 9: Cambridge
University Press Aligned

2 oxist.
able in everyday life. , l

ium  ——>

%

Sternum

D represent the porticles. /‘e sternum is located at
tl

he front of the chest and
protects the heart.

“r

— Ribs

The ribs surround the chest

and protect the vital organs.

=S

Science - Stage 7: Cambridge
Framework Aligned

Science - Stage 8: Cambridge
Framework Aligned

Science - Stage 9: Cambridge
Framework Aligned
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Science Courses
GCSE AQA Biology
These courses were created by our experienced team

of science teachers to support learners studying the
GCSE AQA Biology scheme of learning.

Organ Muscular Tissue
2 —@8 A 9roup of tissues working together to Contracts to churn the food,
. perform a function, Stomach
£
c—P e

Epithelial Tissue

Lines the surfaces.

{ Nervous Tissue

Gathers information and

/y* Plotelet (Thrombocuyte)
-

et Red Blood Cell (Erythrocyte)

- —
Adut Stem Cell\; C o )

| White Blood Cell (Leucocyte)

Connective Tissue

Supports and strengthens,
Blaod also nourishes the
other tissues.

Which leter shows the panc

— Red Marrow Yellow Marrow

Bone marrow is @ source of adult stem cells,

Red marfow contains acult stem cells that can become blood celts. ft
produces millions of blood cells every day.

Yellow bene marrow contains adult stem celis that can become fat,
cartilage and bone.

[

In reality, the feeding relationships are much

on the agar plate, alang wit s, R
more complex than single food chains. We =
<can show this complexity in a food web, > < Paper discs dipped in i Paper disc dipped in
e ST different antiseptics s
S " i

Fox

distilled water
w
\ Ladybir
A 1
2% =
( Abﬁid'\ -

Mouse

........

Rabbit

Grass Tree

Biology GCSE: AQA (F)

Biology GCSE: AQA (H)
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Science Courses
GCSE AQA Chemistry
These courses were created by our experienced team

of science teachers to support learners studying the
GCSE AQA Chemistry scheme of learning.

PO

A pur.e Substance is q substance that
contains one compound or one element.

:a
Po

_JN
Types of Particle

Chlorine

Sodium

LY

Atoms. Molecules
/QO\ (S

+3

Not all element symbols are the first letters of the element name.

26 56

=
The Latin nam
Fe for iron is ferru
S S———

9,

Sodium
chloride |

Alternative 1
Question

Motchthe coet chemicot

H

%

lonsﬁ%% e oc¢
2 o

oo o the o

@
w9
S5
» 8

Electrons

e
S
°

®? &

= lron
———
i . > The Latin nar
S\'ANdmam SOd l u m Na for sodium is na
e
T A The Latinnc =0
ﬁ}: G o ld u for gold is au
——

Bornite

,,,,,,,

Chalcopyrite Sphalerite

lllllll

..... o

Bauxite

Chemistry GCSE: AQA (F)

Chemistry GCSE: AQA (H)
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Science Courses
GCSE AQA Physics

These courses were created by our experienced team of
science teachers to support learners studying the GCSE

AQA Physics scheme of learning.

4.Remove the plumb line and
shape, then reattach it from the

A ballbearing is droppedin @ s

woter it experiences drag due to the water.

More energy

stored by
The boll bearing accelerates due to gravity and evel edch particle

o o
Voo

Identify the graph above that correctly describes tt

The region around a magnet where o
non-contact force acts on a magnet or a
magnetic material is called the
magnetic field or magnetic flux.

The direction of the magnetic field at
any point is given by the direction of the
force that would act on another north
pole placed at that point.

The direction of a magnetic field line is
from the north seeking pole of a magnet
1o the south seeking pole of the magnet.

nd hole. Attach the plumb
from the second suspension
. Use the plumb line asa

e to make two additional

Plasmas '

lonisation () Deionisation

Gases
cponsauon

™ Plumb Line

) aomng or Evaporation
Liqui
Deposition - duids

K

A student was asked the following question:

4 baseballpitcher con accelerate a basebel up to speads 0r40.2 mss.
m

The mass of
©f 0 bosebal is 0.245 kg and the acceleration of the buseballis 126 000 m/s?2
Coleutate the resuttont force exerted on the basebol,

They carried out their calculation using the following steps:
m=0145 kg

=126 000 mis2
F=mxa
F=0.145x126 000
F=18270N

Has this been answered correctiyy

Science Physics GCSE: AQA (F)

Science Physics GCSE: AQA (H)
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Secondary Science Courses
GCSE AQA Synergy
These courses were created by our experienced team

of science teachers to support learners studying the
GCSE AQA Synergy scheme of learning.

Which of the following chemicals is needed for aerobic respiration to occur? ftochondrion

) silicon, Si

() Magnesium, Mg

(Y

() Glucose, CeH1205

") Hydrogen, Hy
protons= 7+ 5

neutrons= 7+ 5

o

|
‘m When an atom emits alpha decay the

T 2 protons and 2 neutrons.

actents to match it o the type of respiration

Varying Speed
Drag the re

Itis rare for the speed of moving objects to semain constant. The
speed of an object will change. This is described as varying speed.

Reactani(s) for Aerobic
Respiration

Reactan(s) for Ancerabic
Respiration

= Carbon dioxide + Ethanat =

= Glucose

n

Combined Science GCSE: AQA Synergy
(F) — Life & Environmental Sciences

Specification: 8465

Combined Science GCSE: AQA Synergy
(H) — Life & Environmental Sciences

Specification: 8465

Combined Science GCSE: AQA Synergy
(F) — Physical Sciences

Specification: 8465

Combined Science GCSE: AQA Synergy
(H) - Physical Sciences

Specification: 8465
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Science Courses
GCSE AQA Trilogy

These courses were created by our experienced
team of science teachers to support learners
studying the GCSE AQA Synergy scheme of learning.

Combined Science GCSE: AQA Trilogy
(F) — Biology

Specification: 8464

Combined Science GCSE: AQA Trilogy
(F) — Chemistry

Specification: 8464

Combined Science GCSE: AQA Trilogy
(F) — Physics

Specification: 8464

Nerve Cell

ised for signal

Wood = 800 kg/m3 5 newron)
Water = 1000 kg/mz=

When a small amount of each metal is
dropped into cold water in a test tube,
each metal reacts differently.

Reactions with
Water

For example:

For example: Copper (K) shows

Potassium {K) reacts
violently, producing a
purpte fiome and mony
bubbles of hydrogen gas.

oooooooo Myelin

W

(H) — Biology

Specification: 8464

(H) — Chemistry

Specification: 8464

(H) — Physics

Specification: 8464

J

Acr
7055 the bottom tows of the periodic table only,
Towards the fight and top of the periodic tabie.
Towards the left and bottom of the periodic table.

Across the top rows of the periodic table only,

Combined Science GCSE: AQA Trilogy

Combined Science GCSE: AQA Trilogy

Combined Science GCSE: AQA Trilogy
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Science Courses
Science Courses - ELC

This course is mapped to AQA ELC Science, and is

designed for students studying both ELC and GCSE.

AQA: 5960
QAN: 601/7522/9ng

Group 1 l ﬁ
Alkali Metals Hiiz;z ’
1424

the heartis yours. This means it can seem as ifits

flipped over in diagrams.

i it hetps. imanin~ .- -

|

urn

and gouze using a Bunsen burn
the water has eva

Method

evaporating dish
s to form an!

ono tripod
5.Heat the d the maiority of

until solid st

Left side

Electromagnetic waves

... W

|
| o !
{ Right side

The left and right side of the heart are named asif

Right coronary
artery

) Tissue

Which )
f the roy
lowin,
9 ke
Y Worgs WOLId g §
escribe g,
s imoges

-

L Animg,

-/ Glondyg,

Electromagnetic (EM) waves are ost |
electric and magnetic fields that c¢

transfer energy from a source to ¢
a transverse wave. s Frisgena

The electric field and magnetic fields are
perpendicular to each other.

Cey

This electromagnetic spectrum (EM) diagram has no labels.

————— > Highfrequency
("] 2]3]as]e][7
Long < Short

Identify the position of gamma on this EM spectrum.

1DON'T KNOW.

Science ELC+ (Double Award): AQA
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Science Courses

GCSE

Edexcel

These courses were created by our experienced team of

science teachers to support learners studying the GCSE

Edexcel

Study the diagram below.

Identify the structure labelled ¢ Metho d
—

Biology scheme of learning.

Minerals are dissotved in water found
in the soil.

The water and minerals are absorbed
by the root hair cells.

The water and minerats are then
transported around the plant in the
xylem vessels,

Bt

Xylem

Root hair

Root Hair Cell J

Phloem

7. The slide is now ,‘
ready for viewing
under a microscope.

You should be able
to see something
like this!

Question
The flow diagram betow
dinthe control of bl o
 insutin
The steps i the process ove been replaced ith lotrs & fo &
The coronary arteries carry blood into the heart muscle, making sure .
it has all the oxygen and glucose it needs for respiration. The /—' A !s,
coronary veins carry away waste products.
How insulin
The walls of the heart are made up of T conticts Bl
cardiac muscle. Slacose B
The cardiac muscle enables the heart to | D concentration
pump blood (by the contraction of different
heart chambers).
The contractions are automatic; you cannot
control this movement.

This is called your pulse.

1 Brog each ofthe steps to the tetter it corresponds to.

Biology GCSE: Edexcel (F)

Biology GCSE: Edexcel (H)
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Science Courses
GCSE Edexcel
These courses were created by our experienced team

of science teachers to support learners studying the
GCSE Edexcel Chemistry scheme of learning.

Chemistry GCSE: Edexcel (F)

Thomson’s Conclusions

+ The cathode fay is made up of hegatively
charged particles.

Chemistry GCSE: Edexcel (H)

« These particies are only 11840 the mass
ogen atom, so these negotive
ust actuolly be port of the

nnnnn

atomic particles can be found
's of all elements.

6 the at b

'€ atom must be positivel,
’OOO @ O’% balance out the nep-a.;.,: Y
OO0

T I
7 \O @ @ _ e electrons, m
ogn ¢ o ‘

|

A 24 0 somnta of 18 carat gold was found to cor

ntain 18 g of pure gold and 6 g of other metals. Calculate the
(i the sample. Give your answer to 2 significant figures.

o find the percentage of gold in the

Mass of substance (gold)

X100
[ Macs of Mixture lnmé-l

189
xltoo
L %

re (%) =75% (2 of)

. Silicon Dioxide .
R Graphite c acid (HNO3) and potassium
Diamond Sitica

_,

HNO3 (o) + KOH og) P KNO; eq) + H20 gy
Use the chemical equation to work out how many moles of hydrochlotic acid will be needed,

Moles of HNO3 needed = moles

Tupe your answer Qs a number, without unit.
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Science Courses
GCSE Edexcel

These courses were created by our experienced team
of science teachers to support learners studying the
GCSE Edexcel Physics scheme of learning.

Gamma

Gamma is ‘
[\ suitable to I
stenl"s: :‘;od Gamma can be used to
X as it ki target and destr roy
native 1 ;
:L\er e pathogens I cancerous cells
uesion
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, . U U

: Tl U\/

VT
Energy in Iceland =
| Warning: lonising

In leeland 99.96% of the energy is supplied from renewable energy resources.

- - Iceland has over 200 volcanoes, allowing for 58% of the energy that is produced to
come from geothermal power stations,

Hydroelectricity (18:1%)

Geothermal (58%)

Hereis o diogram of a nuctear reactor,
Name the part of the nuctear reactor taellod X,

Physics GCSE: Edexcel (F)

Physics GCSE: Edexcel (H)
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Science Courses
GCSE Edexcel

These courses were created by our
experienced team of science teachers to
support learners studying the GCSE Edexcel
Combined scheme of learning.

Combined Science GCSE:
Edexcel — Biology (F)

Combined Science GCSE:
Edexcel — Chemistry (F)

Combined Science GCSE:
Edexcel — Physics (F)

How are alkali metals stored to prevent thet
‘/‘ Stored in the dark.

i/ Stored in at low temperatures.

C ) Stored in water.

Stored in oil.

1 DON'T KNOW

The Digestive System Organs ]
"Z{'ﬂa teste

i |

 Gall Blacder

Large Intestine
Colon and
=Ly

Combined Science GCSE:
Edexcel — Biology (H)

Combined Science GCSE:
Edexcel — Chemistry (H)

Combined Science GCSE:
Edexcel — Physics (H)
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Science Courses
Secondary Other

These courses were created by our 8
. . Biology GCSE
experienced team of science teachers.

Il |
y P e Chemistry GCSE
& )

Wheniioh
'hen joined tagether, these amino. acids form a protein,

0 . -400e

\
Group 1 Grou,
' " , ‘ b7 ' Group 0 of amino aci
Alkali Metals Halogens Noble é’ases e
Name gas A.

3Na)sie) 7)o

The pie chart below shows the proportion of gases in the atmosphere today.

Physics GCSE

Gamma

Gamma is
suitable to
sterilise food
as it kills
pathogens

U\

Whi ;
hich of the following key words would best describe this image?
Gamma can be

target and d¢
cancerous (

JUY .

Medical instruments are Animal

sterilised to use in surgery

() ceu
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Science Courses
IGCSE Cambridge Biology
These courses were created by our experienced team

of science teachers to support learners studying the
IGCSE Cambridge Biology scheme of learning.

Biology IGCSE (Core)

Organ

Biology IGCSE (Extended)

Musculor Tissue

A group of tissues working together to
perform a function.

Nervous Tissue
Gathers information and
controls the oraan.

* Platelet (Thrombocyte)
/ ive Tissue
N

C =Y Red Blood Cell (Erythrocyte) iPports and strengthens,
/4 2

©od also nourishes the
Adul Stem Cell ——p,

er tissues.
‘@ White Blood Cell (Leucocyte)
Yellow Marrow

Bone marrow is @ source of adult stem cells.

Contracts to churn the food.

Stomach

Epitheliol Tissue

Lines the surfaces.

Which teiershows the poncreoe Red Marrow
—

Red marrow contains agult stem cells that can become blood cells, It
produces millions of blood cells every day,

Vellow bone marrow contains adult stem cells that can become. fat,
cartilage and bone.

Question
110050 Lt long i s ot v b it e e s

In reatity, the feeding relationships are much

more complex than single food chains. We =

i ity in a food web. = - .
= < ‘?:f:' : ’:cs ol % Paper disc dipped in
;s owl = | rent antiseptics per e dippes
Ve Mhea Kite
Fox \ Ladybir
‘\@ -
a Mouse
Rabbit

Grass
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Science Courses
IGCSE Cambridge Chemistry

These courses were created by our experienced team
of science teachers to support learners studying the
IGCSE Cambridge Chemistry scheme of learning.

Thomson’s Conclusions

+ The cathode fay is made up of hegatively
charged particles.

« These particies are only 11840 the mass
ogen atom, so these negotive
ust actuolly be port of the

atomic particles can be found
's of all elements.

the atom must be Positively
balance out the nenntiva.
e electrons,

L=ct

A 24 0 somnta of 18 carat gold was found to conta

in 189 of pure gold and 6 g of other metals. Calculate the
(i the sample. Give your answer to 2 significant figures.

o find the percentage of gold in the

Mass of substance (gold)

X100
[ Macs of Mixture lnmé-l

189
xltoo
L %

re (%) =75% (2 of)

B i ioxide .
. Graphite Silicon Di c acid (HNO3) and potassium
Diamond Sitica

_

HNO3 (o) + KOH og) P KNO; eq) + H20 gy
Use the chemical equation to work out how many moles of hydrochlotic acid will be needed,

Moles of HNO3 needed = moles

Tupe your answer Qs a number, without unit.

P

R

=

X@@ Chemistry IGCSE (Core)

hemistry IGCSE (Extended)
%@s Chemistry
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Science Courses
IGCSE Cambridge Physics

These courses were created by our experienced team
of science teachers to support learners studying the
IGCSE Cambridge Physics scheme of learning.

Method

Aball
water it experiences drag due to the water.

move the plumb line and
ape, then reattach it from the
v cond hole. Attach the plumb
from the second suspension

More energy
stored by Plasmas

The boll bearing accelerates due o gravity and evet each particle

o [-) lonisation () Deionisation

=

Plumb Line

H i
H i
- Gases =
== <\Vuponsu«ion

gentiy the graph above that corectly describes t Boiling or Evaporation
Sublimation Condensation
Liqui
Deposition b guigs

lelting

The region around a magnet where a
non-contact force acts on a magnet or a A tadnt s st the foting s,
magnetic material is called the
magnetic field or magnetic flux.
The direction of the magnetic field at
any point is given by the direction of the
force that would act on another north
pole placed at that point.
The direction of a magnetic field line is
from the north seeking pole of a magnet
to the south seeking pole of the magnet.

Ab
sebol itcher can accelerate o baseball up to specds of 40.2 s
The ma:

'S5 07 @ basebollis 0145 kg and the acceleration of the baseball is 126 000 m/s2
Colculate the resultant orce exerted on the bosebal,
They carries out their calculation using the foltowing steps:
m=01454k9

=126 000 mis?

Femxa
F=0245x 126 000
F=18270N

Has this been answered correctly?

Physics IGCSE (Core)

Physics IGCSE (Extended)
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Science Courses

hydrocarbons with o similar

number
of carbon atoms and similar boiling

IGCSE Cambridge Combined

. Boiling point is the

temperature at which
d pure substance boils
ooooooooooo

These courses were created by our A

Crude Oit
heated to
>3200 °C

experienced team of science teachers
to support learners studying the IGCSE

Cambridge Combined scheme of learning. F E

uuuuuuuuuuuuuuuuuuuuuuuuuu

Combined Science IGCSE -
Biology (Core)

Combined Science IGCSE -
Chemistry (Core)

Combined Science IGCSE -
Physics (Core)

Combined Science IGCSE -
Biology (Extended)

Combined Science IGCSE -
Chemistry (Extended)

Combined Science IGCSE -
Physics (Extended)
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Science Courses
IGCSE Cambridge Co-ordinated

These courses were created by our experienced
team of science teachers to support learners
studying the IGCSE Cambridge Co-ordinated
scheme of learning.

Co-ordinated Science IGCSE -
Biology (Core)

Co-ordinated Science IGCSE -
Chemistry (Core)

Co-ordinated Science IGCSE -
Physics (Core)

How are alkali metals stored to preven
") Stored in the dark.

§ Stored in at low temperatures.
C ) Stored in water.

( ) Stored in oft

1 DON'T KNOW

The Digestive System Organs ]
: OHZ{'nq test

Co-ordinated Science IGCSE -
Biology (Extended)

Co-ordinated Science IGCSE -
Chemistry (Extended)

Co-ordinated Science IGCSE -
Physics (Extended)
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Science Courses
|IGCSE Edexcel Biology

These courses were created by our experienced team
of science teachers to support learners studying the
IGCSE Edexcel Biology scheme of learning.

Each gene holds the instructions for g Sequence of amino acids,

fa2.4mie
swim, 112 mile bicycle ride ond 0 26.2 mile run. :
Amino Acids

When joined together, these amino acids form a protein.

‘What do you think influences h . .
hoose the most appropriate ¢ Not long after the eruption a random mutation occurred in the gene for fur colour, which led to ific sequence of amino acids,
Choose the me |

some mice being bor with dark fur. There was now variation in fur colour in this mouse population.
—
—_— g

Phenotype variation

$ m The mice with dark fur camouflaged well
% \ — against the black rock, but the mice with
‘&__‘_g~ light fur were easily seen by predators

and were eaten, A

He blaced the green beans in three different conditions shown below.

1 ent ‘ond digest mi
Wh Ite Blocd lhot!invcde lheg:rdu. o
Cells

C

( -
Lymphocytes produce antibodies and Pathogen Detected ‘ S
ontitoxins. i
Antibodies attach to invading Pathogen Engul

]
microorganisms and signal to the rest of

&
the immune system. o =
Antitoxins neutralise the poisons 3‘ 0
produced by microorganisms. - w ¥
g e condters wineshaos o e green beons 9row (o the greatest tength?
. Pathogen Digested

- | —

xé@v‘

Jose performs an experiment to discover the eftect of light on the growth of green beans,
—— .

D

Biology IGCSE

Human Biology IGCSE
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Science Courses
|IGCSE Edexcel Chemistry

These courses were created by our experienced team of

Chemistry IGCSE
science teachers to support learners studying the IGCSE =1

Edexcel Chemistry scheme of learning.

The nucleus is in the centre of the
atom and contains protons and
neutrons.

Smallest orbit Electron
Lowest energy level

i i f Neutron’
N

ton

Electrons ore found orbiting the

us in shells, also called energy

The chemical equation for the thermal decomposition of calcium carbonate is: o

CaCO3 g—P» CaO () + CO2(g) [° s ofthe orvitdepends on he

gy of the electron.
84 g of calcium carbonate (CaCO3) produced 47.04 g of calcium oxide (CaO). smaller the orbit the lower the

The reaction was carried out a second time using a mass of 21

Calculate the value of the scale factor you should multiply 47.¢ Carbon Atom

f calcium oxide that would be made in the second experiment
: Structure of Buckminsterfullerene:
Type your answer as a decimal.

* 60 carbon atoms (chemical formula Ceo)

* 20 hexagons and 12 pentagons

* Weak intermolecular forces between
molecules Pentagon
« Crystalline structure

* Delocalised electrons within molecules but
rlot between the molecules

& )

the following ion.

Method

1. Add the mixture of ethanol and water . 2_
to be separated to the round bottom
flask and set up the apparatus as

shown.

2. The condenser is set up with cool
water entering at the bottom and

leaving at the top.

o= Cool water in

following explains how oxygen forms a 2. ion?

following periodic table to help you,
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Science Courses
|IGCSE Edexcel Physics

These courses were created by our experienced team
of science teachers to support learners studying the
IGCSE Edexcel Physics scheme of learning.

The sky diver falls through the qir
due to the force of weight,

As airis a fluid, the sky diver
experiences drag force in the opposite

Aivnctiom am

10 a vetocity of 610 m/s. During this period of
initinl velocitu of the aircraft.

2

j iformly at 10 m/s’
Afighter jet accelerates uni A
aceeleration, the aircroft travels 15 km. Calculate the

* diver's motion,

Give your onswer to 1 decimal place.

Medical Diagnosis Medical Tr ts or Di N ———
Hs < —> < .
@ > ¥
Radio-waves  Microwaves Infrared Visible light Ultraviolet X-rays Gamma

AARLTITLINT
e

Short wavelength

Turbine The motion of a galloping horse is represented using o velocity-time graph,

Boiler ﬂ
7 Generat(
| 10
£
: H -
- How does a bio-fuel power station worl . ,
kA
= 1. Biofuels can be burnt to heat water and tur ) =
steam. ' 1 ; s
1 5t z P s
2. The steam is extracted and used to turn @ -
fofuets i 1o product
Bio-f 3. The turbines tur the generator o p e accelaration of the horse o1 9 ot the foume st b found, o ing the acceleration

ofthe horse, a tangent is crown ot 9 5. Twa paints are {dentified on the tangent and ay and

= | Dxore labeled,

Use the graph above to calculate the acceleration of the cyclist at 9 s,

Do notinclude a unitin your answer,

Acceleration=___ ps2

Physics IGCSE
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Science Courses

|IGCSE Edexcel Combined
These courses were created by our
experienced team of science teachers

to support learners studying the IGCSE
Edexcel Combined schemes of learning.

— Biology

— Chemistry

— Physics

>3

The atmosphere gets less dense the

Did you know?

closer you get to space.

Science Combined Single Award IGCSE

Science Combined Single Award IGCSE

Science Combined Single Award IGCSE

»  The Earth’s atmosphere is a relatively thin layer of

The Carbon Cycle

gases surrounding the Earth.

Itis dynamic and forever changing.

| The causes of these changes can be man-made or as a
| result of natural processes or events.

Atmosphere x )
“ v

Bnimats & Plants |

Fossil Fuels 1

dimentary j

YRocks € Abonrg, 2004, \
e souy,

Whot js the gisgg,

nce raveliey by the bo,
at?

Science Combined Double Award IGCSE
— Biology

Science Combined Double Award IGCSE
— Chemistry

Science Combined Double Award IGCSE
— Physics

Download course content


http://www.century.tech/mapping/science-secondary-igcse-edexcel-combined

Science Courses
Science Keywords Edexcel IGCSE
This course contains assessments from each

topic in the IGCSE Edexcel specification to test
the spelling and definition of key words.

N\ W4

@ Science Keywords Edexcel IGCSE

What do we call a solid conductive material through which electricity can flow? ] 5
i calle
i 2 of a food chain are

- - s that consume producers at trophic level

o Herbivore:

) Cathode ’

") Testiary consumers

( ‘, Electrode

) Producers

Kegword Qu‘Z () Anode

7\ secondary consumers

—_ ~= “ primary consumers
9le of ing;
he neide
Quiz yourself ON e the "% PeUond whict toggy o,
ernal refiect )
on o
This helps devl-.‘\:z I oceurs js known gg What is complete combustion?
attowing you to ./ Tefractiye index

\ ( A reaction that breaks down large hydrocarbons into smaller molecules.
/ ongle of reflection .

) Combustion carried out in sufficient oxygen, producing only water and

L/ ongle of refroct " carbon dioxide. K .
Nt Oction egwo rd Qu|z
Combustion with insufficient oxygen, producing harmful substances.

/Y Quiz yourself on the scie i i
% ) Areaction that joins monomers to form polymers. ntific keywords for this topic.

This helps develop your scientific literacy and oracy skills,

allowing you to write and speak like a scientist.

/ Criticgg angle
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Science Courses
Working Scientifically

This course includes scientific skills and ideas that
flow through all scientific disciplines. It is suitable for

study alongside secondary science subjects. Working Scientifically

|

Ba"el It is important 1o know the mmei :fs
m the parts on the Bunsen purner. Thi: N ‘

Chimneg witt make it easier to sofely operate

The barrel of chimney con getvery hot
during use, s the burner should b:
i e to avoid burns.

Gas Intet carried by the has - NOt Ac
Cotltar collar controls the size of the air o Pr‘;‘é l}g ;e NOtPACC'urate ST e
1“? {nis is how the size & temperature fieeun A PreCise
hole,

Precise
of the flame can be regu\me«t

Air Hole
Consider an archery player:

Tha or i ise i
rows are considered to be precise if they are close together.

re considered to be accurate if they are near the centre of the bullseye, /
ike the results in an experiment, can be precise without being accurate,
00:03:00 . ‘

Hazard: Using ditute hydrochloric acid

in @ neutralisation experiment.

LN ) W
— Medium <
— - . . . T =
N - 8 - \
Let's take a look at the classic investigation into the W \ < = ‘
e s e (I i \ =
effect of light intensity on the rate of photosynthesis. 15 o ALl N \\

/

A\ NN
Risk: Medium — The acid is mitdly
corrosive and coutd cause skin ot eg.e
irritation if spitted. The risk is higher if
pvotecﬂve equipment is not used.
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Prepare for A-Level Science

These courses covers the key concepts and \,
: : . . .~ Prepare for A-Level: Biolo
foundational knowledge to aid transition and preparation P gy

to study science at A-level.

ue
dermal tiss! -
?e":mes very substance th
waterproofs the teat

Fatharia inve:

shoots.

Prepare for A-Level: Chemistry

ed the effe, different conditions on the rate of ahspiration of somg
t concit
Spiration of soy

hy
de mesop! Thesebugis
t:‘“s:( ® toroplosts T Setub or the apparay

photosynthesis: y
P G 4

s €N be seen betow,
/

ot
spongy meso!
o atains G PS¢ ot

{ increases the sU
‘ , 0 gos xchanse: ,
e
@ OO © =
Bottom of Leaf
The tobie
g ks o 1 Tt coctions vt s g n
re chongein
o 2D i
-
-
A

ontrol
Guard Celts ose the stomata o ¢
Open and ¢ g the leaf.

Prepare for A-Level: Physics

Refraction
increases
FRIL GRS Red light is refracted the teost Red
y Blue
Pes of Pth' 1 e
Violet light is refracted the most vViolet
Sodium,
¥ Chlorine Chlorigy
The amount the wave is refracted increases
as the wavelength decreases.
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Geography Courses
AQA

This course covers the huge variety of both
physical and human geographical content.
They also cover specific geographical skills,
including fieldwork and cartographical skills.

Geography GCSE: AQA

Specification: 8035

immediate Responses

" 1ake place in the days : X
mmediate responses elow is a climate graph for the tropical rainforest in Peru,

5 :
following an event. outh America.

6-7 miltion of international aid, including $5

40

. 9
million from Austratia.

. The Red Cross supptied rescue workers.

3

Temperature °C

Identifying Features on OS Maps ~ * l
Spake Holes An important skill in

W17 Geograph

features

Survey r

The v-shi :
upper co

Month of the year

on e Twiss inr
(Warerfali/ 1

shown in

be identif’

© Crown copyright and database rights 2023
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Geography Courses
Edexcel Geography GCSE: Edexcel A

Specification: 1GAO
QAN: 601/8134/5

These courses cover a huge variety of both physical
and human geographical content. They also cover

specific geographical skills, including fieldwork and
cartographical skills.

Geography GCSE: Edexcel B

Specification: 1GBO
QAN: 601/8135/7

tn o
he"{',!l}lﬂngrcni;.m

lm’e@dﬂ&nal Migration

% e

in
histarically bee

portant,
However, his s now g g

B v 5
& % Ay {055 for London, meaning

: fewer people arrive compareg
10 those leaving,

International migration, or
migratian from other

countries, hos olways been o
"etgain for London, meaning

mare are artiving than

leovinn mar-

o5 they @@

Destnicive waves ave: ‘

are high eners

" count
11151 48150 s 5o g
e
i swash
ctive waves " =

tru Dy ;umwsﬂ“—‘d‘cwserto the co8: - * | iz ‘ EF

5 - e Different parts of the world hay North Pole | ot
This leads 10 erosion ot ihe < 'l

ot and &
. waves nove o 1o B

Destctive wa

short wavelength-

s
different climates and habitats.
y -
e EI
Temperate \ / 3

Regions

Tol Profite

‘ 7
. o
g § cosion -
~ ; “# 2 gEcsen | e 130
...;,' f km,‘ o Y “_/ “ = V108 0 St g, Mot Shout g -
L g . - g -
p (== o | e
e nd over
Spot Hei S Tl SN e
‘\ Pot Heights \ South Pole - [ s
A\ = M i
> i 3 -as
X A\ e Less thon 5
(7m0, s 2
|- = '
L i S - hanges to
2 i \ ': kel " Piece of paper, maps are fig, pug Rivers make ; N‘i o
— e land thy i ’; \dsCOpes.
i S '°Y cover is often quite hily, lsn»;du::ingdﬂm through
i

o
ranance Survey (05) maps can sho hilts

and relief with s,
t
[y POt heights and contoyr

Contour Lines |- « range of Processes:

These processes incude
evosion, transportation
and deposition.
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Geography Courses
Eduqas

These courses cover a huge variety of both physical
and human geographical content. They also cover
specific geographical skills, including fieldwork and
cartographical skills.

An Exampte of o Woodland Food Web

These are eaten by secondary
consumers including the fox
and ladybird.

1 Hudraulic
oction and 2 Erosion uigens he 3 oy
; Gbrasion cre, W cracks ang they . i oo
% : o e
o X rk_— cracks in o gy, Sventuatly join t eroded througp
A . & to e a ca 0 the other 5
i S " o »/ ve. the heqg
: = long,
i lude > y p— . :
Primary consumers may inc! ot 277 - o
‘ ‘ arch,
rabbits, mice and caterpillars. == P
- p
coterpiter
v

e
oy

oY

Tertiary consumers such as the i T

robin eat secondary conSuMers,
and may be eaten themselves
by animals such os the red kite-

G
'00d transpory links hetp
to facilitote trade, Potitica(
N Culturg) iy,

5 Water availability is hacion
The Channel Tunne; Ngtand unevenly distributed, where e augomersuscmt e 200
enables quick gng i some areas have a surplus

199C 10 France gng e and others have a deficit.

et of Europe,

Heathroy, This creates an imbalance
L4 and a need to increase Key
water supplies, particularly L':: :: :;:f"‘
in areas of deficit.
As a result, strategies have 15 000-69
+ 6000-14 9¢
been developed to increase

Large interman: -
g€ internationg Airport

"0 London, act as g

N link the
K ta
hundregs of <ountries
aroup,
d the worig, water supply. 1700-2499
1000-1699
W o0

No data available

et ‘}/ G ady

‘ £, pecomposition

J Leaching

(washed away 64 water]

Geography GCSE: Eduqas A

Specification: C111QS
QAN: 601/8152/7

Geography GCSE: Eduqas B

Specification: C112QS
QAN: 601/8153/9

4. The top Part of the. arch js
Continually erodeqy and
Weakeneg through
Weathering. The arcry
Collopses, leaving o stock,

Stack

5. Finalig, the
Stack is
eroded doy,
o become a

Stump,

o

the lobels are MSSNS
(v Some of th
cirforest et

cureg et
g the abels o the corTecty ¢
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Geography Courses

OCR

These courses cover a huge variety of both physical

and human geographical content. They also cover

specific geographical skills, including fieldwork and

cartographical skills.

The growth of cities 5 sceurringin

most ports of the. world.

Cities need hard surfaces -
and buildings which increnses

of impermeoble surfoces.

{ flooding-

for roods

amount

. e
This s increosing the sk

(more resistant)

Boulder Clay
(less resistant)

B  aadll

Phuysical Factors:
Processes

s

‘Human
Factors,

Like the yolk of on egg, the Earth h
COre at the centre, This i o
. This is
iy the hottest part
The core can be divided in

outer core, fo the inner ang

The inner ang outer core
Iron ond nickey,
layer and the oL

are both made of
but the inner core is o solig
uter core js liquid.

Th
© Mantle thot surrounds the core s i
L ey is
ode of liquid rack cafeq magm,

The crust is the outer |,

¢ yer of the
and is the thinnest tayes o

3

The boulder clay along
this coastline is also prone
to slumping.

Scientific Research

The clay becomes saturated
in heavy rain when water
enters cracks. This added
weight makes it slump.

When preserved as unpolluted and unspoiled,
cold environments are outdoor laboratories for
<clentific research on important global issues
such as climate change. Access to undisturbed
plant and animal communities for scientific

research is crucial.
r Many people argue that we should always hove
some places in the world completely natural so
we can understand and remember how much
developed places have changed over time.

Crust

Mantle

Outer core

Inner core

Geography GCSE: OCR A

Specification: J383
QAN: 601/8310/X

Geography GCSE: OCR B

Specification: J384
QAN: 601/8224/6

The table below shows the amount of carbon dioxide praduced per kilogram of produce.

Study the table

Apples UK: Road 03
Apples | New Zeatand: Ship, 06
Lettuce UK: Road [
Lettuce Spain: Road 18
Asparagus | UK: Road EE]
Asparagus | Peru: Flight 85

How much CO; s produced per kg of lettuce when imported from Spain?

Type your answer in the box below. e.g. 1.2 J

Download course content


http://www.century.tech/mapping/geography-secondary-ocr

Geography Courses
IGCSE

This course is suitable for learners working towards an

Geography IGCSE: Cambridge
Essential Skills qualification in Wales or Northern Ireland. grapiy 9

Geography IGCSE: Edexcel

Physical

There are many
reasons why some.
countries produce or

) €an access more food

Climate than others. They are

= divided into physical ‘Tech nology
‘and human factors,

Animols olso need adaptations to cope with the
environment, There are lots of lizords, snakes.
~corpions and insects in the desert. Mammals
include camels and the fennec fox. There are
only a few mammals and most tend to be small.

R
Physical factors that

offect food production
are climate, water
stress and pests ang » Conflict
disease. The human

factors that affect food

£ supply are technology,

. conflict
Pests & Disease AT '

Water Stress

Geography IGCSE: Oxford AQA

Causes of Overpopulation

Poverty Migration

. L8
Global Climate Regulation ( K l‘&* - ﬂ»u‘

In some regions of the world, overpopulation occurs as a result of external events such as war,

§ famine, or natural disasters. These events force people to seek refuge elsewhere. Certain regions
<ot cosbon dioxide
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G C S E ‘ First class lever Practial gE:a:::lle:
These courses have been created by our team of experienced | ok emenson ':‘
secondary Physical Education teachers. Each set of courses J— M

are separated into topic strands with a wide range of practical ' @
examples, data analsyis and topic nuggets available throughout. <= - ST e

Physical Education GCSE: Edexcel

Specification: 1PEO

Physical Education GCSE: WJEC

Specification: 3550QS

Physical Education GCSE: WJEC
(Short Course)

Specification: 3555QT

Physical Education GCSE: AQA

Specification: 8582

Physical Education IGCSE: Cambridge

Specification: 0413

Physical Education GCSE: OCR

Specification: J587
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Physical Education Courses
Vocational

These courses have been created by our team of
experienced secondary Physical Education teachers in
line with the Sport BTEC and Sport Science schemes
of learning.

Sport BTEC Level 2: First Award

Sport BTEC Level 2: First Diploma

Sport BTEC Level 2: Tech Award

G
@

Sport BTEC Level 1: Introductory

Sport BTEC Level 2: First Certificate

Sport BTEC Level 2: First Extended Certificate

Sport Science Level 2: Cambridge National

Specification: J828
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Label the correct bone identified by the arrow.

PE Special Feature!

Recall and Review Nuggets I
Bl X

. .o g . . The cranium is a flat bone Yol
Testing specific AO1 subject knowledge quickly that protects the bran. | Emmm
identifying misconceptions and gaps in learning Clvicle [ iy oy |
to the teacher. Thecavicl s o ang bone iyt (-

that runs from the sternum
to the scapula. — Ribs Sternum = Cranium = Clavicle =

The ribs surround tk
and protect the vital

Always use the anatomically correct terms when referring to bones. 1 DON'T KNOW

X skut /cranium  H{ Collarbone / Clavicle

—

Biceps
Located at the front of
the upper arms and when
contracted they allow for
flexion at the elbow.

|
\
|
|

l

Nose
—_——
Bronchus
- Mf:-'th N Name the part of the respiratory system identified by the label B.
- i Bronchiol
Trachea I
—_— Alveolus
Ribcage (air sac)
Intercostal
What is the name of the muscles identified in the picture? Muscle
Lung Diaphragn

1 DON'T KNOW

| DON'T KNOW

'CENTURY

KS4 Theory PE and Vocational Sport



Secondary

This course explores the key skills

that learners will need for life and work,
covering using devices and handling
information, creating and editing,
communicating, transacting and being
safe and responsible online.

Identifying Appropriate
Websites
Some websites will be more

relevant to your search than
others.

Narme the devices

Google  Home improvements

Itis important to identify which
websites are appropriate for
your search and which ones
have an agenda.

Websites with an agenda might
be trying to sell you something
©or may not be relevant to your

search at alt.

Dr—— k_
|
!

Smart Thermostat

Possible Answers

Laptop
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e
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jing © long tr
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cguse phuswcn\ ‘pf.ob
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Tablet

Common problems include:

. Eyestiain
. Headaches

. Muscle pain

. Repetitive strcin iU

QA (Jimages [Jvideas Q) Maps

This woy

Rows are (e,
USing numpey,

o
2
3
q
5
6
7z
8

&

Which of the following could a spreadsheet be used for?
) creating a slideshow presentation for work

O scheduling an email

‘ carrying out data calculations using formulae

writing a newspaper article

| DON'T KNOW

Py ksheet jg o
indivigyegy ., :‘z 'S divideg jng,, rows,

Secondary Digital Skills

SUBMIT ANSWER J
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Climate Awareness

This course is a collection of learning nuggets

to provide awareness and understanding of

climate change, while also exploring how we

can respond and adapt.

»

Environmental Impacts

The impacts on the sur

The environmental impacts of the
weather event include:
+ Up to 50 cm of snow on high ground in
places such as Dartmoor and ExmMoor.
. Some rural areas had temperatures as
low as -12°C.
+ Gusts of 60 to 70 mph in parts of
northern England and Wales.
. The strong winds caused snow drifts

as high as 7 metres.

rounding landscape

Snow Drifts
of7m

Temperatures
of-12°C

'Used o adapt to sea (evel rise.

Sea wall

,

Flood barrier

Mangrove forest planting

Question

Copper Production

1900,

World Population

O epimatd wordpopbition Glions)
-

A

Rock Armour

Arctic,

Coastal defences such as hard
engineering with sea walls and
rock armour could be used to
prevent flooding and reduce the
energy in waves.

This is more likely in places
where there are towns and cities
at risk or vital infrastructure.

:VH.dlile., such as Adelie penguins on the
ntarctic Peninsula and polar bears in the
e

Climate Awareness

& .
ould disappear as the polar ice melts.

@ the UK we use about 1.8 billion steel cons every Ueet out cnly 30% of these are recycled
Recycling recuces waste. Producing steet (o recycle
energy needed fo make stee from ron of€

e tree environ etk benefts of recycling @ igher ProP
e aption below that contains the three points Yo woul include to carrectly

d cans requires only 25% of the
ortion of used steel cans.

Choose
answer this questian.
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Lossote s used,less fuet s sed, less o on efect n the ozone tayer.
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